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QUESTION 1

A company with various departments wants to use tagging to improve search capability. Each department is restricted
to use its own tags. How should an Architect organize the tags? 

A. Create a department sub-tag in each tag 

B. Use department ID as a prefix of each tag 

C. Create a namespace for each department 

D. Create tags in "departmentName:tagName" format 

Correct Answer: C 

 

QUESTION 2

A client is migrating the content from a legacy website to an existing AEM implementation. An Architect evaluates the
content of the legacy site and determine-that there are approximately 20.000 pages with a common structure, and a few
hundred pages that do not follow a pattern. The client wants to complete the migration as soon as possible. 

Which approach should the Architect recommend for the content migration? 

A. Migrate all common pages using the ETL procedure with multiple rounds 

B. Migrate all common pages using the ETL procedure and use manual authoring for the rest 

C. Use Site importer to import the content into AEM 

D. Recreate the entire content manually with a group of Content Authors 

Correct Answer: D 

 

QUESTION 3

A media company surveys the end users of their AEM Sites website. The survey identifies that it is difficult to locate
content on the site due to lack of relevancy and slow performance when navigating through the large volume of content. 

To address both issues, the business team suggests integrating an innovative taxonomy product to the company s AEM
implementation. The product is new on the market and the development team has no experience with the technology. 

Which two steps should an Architect recommend to evaluate this new feature? (Choose two.) 

A. Develop the integration as proof of concept with sample content 

B. Test usability of the feature with selected business users 

C. Develop the integration and deploy it to 50% of the production AEM instances 

D. Develop the integration as proof of concept with full production content 
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E. Test usability of the feature withselected end users 

Correct Answer: BD 

 

 

QUESTION 4

A new AEM Sites implementation includes a component that lists the 10 most recently published PDF documents in
AEM Assets. The component works as expected during development and passes QA testing. The business starts to use
it while entering content and uploading assets in preparation for go-live. A few days later, the component\\'s PDF list is
empty. 

What is the most likely cause of the issue? 

A. A PDF with too large file size has been uploaded. 

B. The component is missing a matching Oak index. 

C. The component is missing the HTL display context to escape the PDF title. 

D. A PDF with incorrect MIME type has been uploaded. 

Correct Answer: A 

 

QUESTION 5

An enterprise client is on-boarding an AEM Desktop application to provide authors with the ability to load the AEM
repository virtually on the file system. The desktop application is unable to connect to the AEM Author, which has SSL
enabled. The intermediate certificate is installed on Apache. 

How should an Architect resolve this issue? 

A. Install the certificate chain to the keystore of the AEM authentication service user 

B. Install the Root certificate to the AEM truststore 

C. Install the certificate chain to the keystore of the AEM ssl-service user 

D. Install the certificate chain to the AEM truststore 

Correct Answer: B 

 

QUESTION 6

A customer wants to simplify and automate publishing press pages and defines the following flows: 
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What should the Architect recommend? 

A. Create a custom workflow 

B. Advise the customer to use Launches 

C. Implement a Sling event listener that triggers on page creation 

D. Configure MSM with the "Activate on Blueprint activation" option 

Correct Answer: B 

 

QUESTION 7

A website built on AEM Sites displays the company\\'s stock price in the footer of all pages. The stock data is retrieved
from a third party REST service using two-way SSL and rendered in an AEM component using HTL During performance
testing in the last development sprint it becomes apparent that the third party service sometimes takes up to 30 seconds
to respond, which degrades the overall site performance. 

How should an Architect address this issue? 

A. Call the REST service directly from the browser 

B. Temporarily remove the component from all content 

C. Load the stock data component asynchronously 

D. Add a 5 second timeout to the REST call 

Correct Answer: C 

 

QUESTION 8

A customer is about to go live with a new website on AEM on prem. The DNS (www.domam.com) already points to the
load balancer of the AEM environment and final sanity checks are being performed. The website was tested in lower
environments without SSL On production, the website is served over https. During sanity testing, all requests result in a
404. 
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While investigating this issue, an Architect determines the following: 

1. 

The requests land on port 443 on the load balancer where SSL is terminated and an HTTP header X-Forwarded-Proto
is set 

2. 

The website Sling Mapping is created beneath /etc/map/http/www.domain.com.80 

3. 

The URLs on the website are externalized with http in the absolute links Which two actions should the Architect take to
resolve this problem? (Choose two.) 

A. Ensure the Sling Mapping exist at /etc/map/https/www.domain.com.80 

B. Ensure the Sling Mapping exist at /etc/map/httpj)mwp
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